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TNPSC GROUP I test batch – 2020 
TEST XVI – MENTAL ABILITY & CURRENT AFFAIRS (SEP & OCT) 

 
1. Which state /Union Territory has dicided to provide free rides to women in city buses 

and metro trains? 
a. Chandigarh  b. Delhi   c. Kerala   d. Odisha 
ve;j khepyk; / a+dpad; gpuNjrk; ngz;fSf;F efu NgUe;Jfs; kw;Wk; nkl;Nuh 
,uapy;fspy; ,ytr gaz trjpia nfhLf;f KbT nra;Js;sJ? 
a. rz;bfh;  b. nly;yp  c. Nfush  d. xbrh 
 

2. The India‟s first-ever architectural LED illumination has taken place in which of the 
following historical monument? 
a. Char Minar    b. Qutb Shahi Tombs 
c. Gol Gumbaz    d. Qutb Minar 
gpd;tUk; ve;j tuyhw;W epidTr; rpd;dj;jpy; ,e;jpahtpd; Kjd;Kjy; LED ntspr;rk; 
nfhz;l fl;blf;fiy cs;sJ? 
a. rhh; kpdhh;    b. FJg; rh`p fy;yiw 
c. Nfhy;Fk;gh];   d. FJg; kpdhh; 
 

3. The National Animal Disease Control Programme (NADCP) was launched in which 
city? 
a. Madurai   b. Mathura   c. Coimbatore  d. Unnao 
Njrpa fhy;eil Neha; fl;Lg;ghl;L jpl;lk; (NADCP) ve;j ,lj;jpy; ntspaplg;gl;lJ? 
a. kJiu  b. kJuh  c. Nfhak;Gj;J}h; d. cd;dhT 
 

4. Which of the following state has launched Mukhya Mantri Seva Sankalp Helpline 1100 
for speedy and time bound redressal of public grievances? 
a. Uttarkhand   b. Himachal Pradesh 
c. Uttar Pradesh    d. Odisha 

 gpd;tUk; ve;j khepyj;jpy; Kjyikr;rh; Nrit jPh;khd cjtp vz; 1100  MdJ 
 nghJkf;fs; Fiwfis tpiuthfTk; chpa fhyj;jpYk; jPh;j;J  itf;f 
 ntspaplg;gl;lJ? 
 a. cj;jufhz;l;   b. ,khr;ry gpuNjrk; 
 c. cj;jpu gpuNjrk;   d.xbrh 
 

5. The India‟s first-ever sky cycling park will be opened in which state? 
a. Uttarkashi, Uttarakhand  b. Pakke – Kessang, Arunachal Pradesh 
c. Chirang, Assam    d. Manali, Himachal Pradesh 

 ,e;jpahtpd; Kjy; thd; kpjptz;b g+q;fh vq;F jpwf;fg;gl cs;sJ? 
 a. cj;jufhrp> cj;jufhz;l;  b. gf;Nf Nfrhq;> mUzhr;ry gpuNjrk; 
 c. rpuhq;> mrhk;   d. kzhyp> ,khr;ry gpuNjrk; 
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6. Choose the incorrect statements: 
1. The India‟s longest electrified rail tunnel situated between 

Cherlopalli and Rapuru. 
2. The 112-Km long electrified railway line is between Venkatachalam and 

Obulavaripalli. 
3. The length of electrified rail tunnel is 6.6km and built in the shape of „horse – shoe‟ 

using New Austrian Tunneling Method (NATM) 
a. 1 & 2 b. 2 & 3  c. 1 & 3   d. None 
jtwhd $w;Wfis fz;lwpf. 
1. ,e;jpahtpd; kpf ePz;l kpd;kakhf;fg;gl;l Ruq;f ,uapy; ghijahdJ 

nrh;Nyhgs;spf;Fk; uhGUTf;Fk; ,ilapy; cs;sJ. 
2. 112 fp.kP ePsKs;s kpd;kakhf;fg;gl;l ,uapy; ghijahdJ Ntq;flhr;ryk; - 

XGythpg;gs;sp ,ilNa cs;sJ. 
3. 6.6 fp.kP ePsk; nfhz;l kpd;kakhf;fg;gl;l ,uapy; Ruq;fg;ghijahdJ Gjpa 

M];jphpa Ruq;fg;ghij Kiwapy; “Fjpiuf; Fsk;G” tbtpy; mikf;fg;gl;Ls;sJ. 
 a. 1 & 2  b. 2 & 3  c. 1 & 3   d. VJkpy;iy 
 

7. Which state will set up India‟s first International Women‟s Trade Centre (IWTC)? 
a. Tamil Nadu  b. Karnataka   c. Andhra Pradesh   d. Kerala 
,e;jpahtpd; Kjy; rh;tNjr ngz;fs; th;j;jf ikak; ve;j khepyj;jpy; mikf;fg;gl 
cs;sJ? 
a. jkpo;ehL  b. fh;ehlfh  c. Me;jpug; gpuNjrk;  d. Nfush 
 

8. Find out the incorrect statements: 
1. Bangladesh has entered into, agreement with Reliance Power of India to set up 750 

Mega Watt gas based power plant in Meghnahat near Dhaka.  
2. The Construction of the plant will completed by 2022 
a. 1  b. 2   c. Both   d. None   
jtwhd $w;Wfis fz;lwpf: 
1. tq;fNjrk; ,e;jpahtpd; hpiyad;]; gth; cld; 750 nkfhthl; jpwDs;s vhpthA 

mbg;gilapyhd kpd; epiyaj;ij Nkf;dh`hl; (lhf;fh mUfpy;) vDk; ,lj;jpy; 
mikf;f xg;ge;jk; nra;Js;sJ. 

2. kpd; epiyaj;jpd; fl;Lkhd gzpfs; 2022 Mk; Mz;by; epiwT ngWk;. 
 a. 1  b. 2   c.  ,uz;Lk;    d. VJkpy;iy   
  

9. Choose the correct statements: 
1. The WHO Southeast Asia Region have resolved to eliminate measles and Rubella by 

2023 
2. It was adopted at the 72rd session of WHO regional committee for Southeast Asia in 

New Delhi.  
3. 5 Countries have eliminated measles till now- Bhutan, DPR Korea, Maldives, 

Srilanka and Timor Leste. 
a. 1 & 2 b. 2 & 3 c. 1 & 3  d. All the above 
rhpahd $w;Wfis fz;lwpf: 
1. WHO MdJ njd;fpof;F Mrpah gFjpapy; jl;lk;ik kw;Wk; &ngy;yhit 2023 f;Fs; 

mfw;w jPh;khdpj;Js;sJ. 
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2. ,J 72tJ njd;fpof;F Mrpahtpd; gpuhe;jpa FO mkh;T GJjpy;ypapy; 
eilngw;wNghJ Vw;Wf;nfhs;sg;gl;lJ. 

3. ,Jtiu 5 ehLfs; jl;lk;ikia xopj;Js;sd – g+lhd;> DPR nfhhpah> khyj;jPTfs;> 
,yq;if> fpof;F jpNkhh;.  

 a. 1 & 2  b. 2 & 3  c.  1 & 3    d. Nkw;fz;l midj;Jk;   
  
10. Choose the incorrect statement: 

1. India has become a member of the Global Anti-Microbial Resistance (AMR) 
Research and Development (R&D) Hub. 

2. The hub was launched during the 71st session of the world Health Assembly in 2018 
& its headquartered in Germany.  

a. 1  b. 2   c. Both  d. None 
jtwhd $w;Wfis fz;lwpf: 
1. ,e;jpah cyfshtpa Ez;Zaph; vjph;g;G Muha;r;rp kw;Wk; Nkk;ghl;L ikaj;jpy; 

cWg;gpduhf cs;sJ. 
2. ,e;j ikakhdJ cyf Rfhjhu rigapd; 71tJ khehL 2018-y; ele;jNghJ 

njhlq;fg;gl;lJ ,jd; jiyikafk; n[h;kdpapYs;sJ. 
 a. 1   b. 2   c.  ,uz;Lk;    d. VJkpy;iy   
 
11. Find out the incorrect statement: 

1. The 14th Conference of Parties (COP 14) to the UN convention to combat 
Desertification (UNCCD) has officially released the Drought Toolbox, which is a 
one-step shop for all actions on drought. 

2. The Toolbox can be used by countries to assess drought risks in their regions much 
in advance, and prepare to deal with the water scarcity. 

a. 1 b. 2  c. Both   d. None 
jtwhd $w;Wfis fz;lwpf: 
1. If;fpa ehLfspd; ghiytdkhf;fiy jLg;gjw;fhd COP 14 khehl;by; twl;rp fUtpg; 

ngl;b mjpfhug;g+h;tkhf ntspaplg;gl;lJ.  ,J twl;rp njhlh;ghd midj;J 
eltbf;iffSf;Fkhd xNu thq;Fkplk; 

2. ,e;j fUtpg; ngl;bia ehLfs; jq;fs; gFjpfspy; twl;rpia Kd;$l;bNa 
kjpg;gplTk; ePh; gw;whf; Fiwia rkhspf;fTk; gad;gLj;jyhk;. 

 a. 1  b. 2   c.  ,uz;Lk;    d. VJkpy;iy   
 

12. Who has been honoured with „2019 Global Goalkeeper Award‟ by the Prill & Melinda 
gates foundation? 
a. Ram Nath Govind   b. Narendra Modi 
c. Pranab Mukherjee  d. Manmohan Singh 
gphpy; & nkypz;lh Nfl;]; epWtdj;jhy; 2019 Mk; Mz;bd; “cyfshtpa Nfhy;fPg;gh; 
tpUJ” ahUf;F toq;fg;gl;lJ? 
a. uhk; ehj; Nfhtpe;j;   b. eNue;jpu Nkhb 
c. gpuzhg; Kfh;[p   d. kd;Nkhfd; rpq; 
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13. Which place has been adjusted as the India‟s best Swachh Iconic place on the basis of 
overall improvement in Sanitation? 
a. Meenakshi Amman Temple, Tamil Nadu 
b. Tirupati Temple, Andhra Pradesh 
c. Mata Vaishno Devi Temple, Jammu & Kashmir 
d. Taj Mahal, Uttar Pradesh 
Rfhjhuj;jpy; xl;Lnkhj;j Kd;Ndw;wj;jpd; mbg;gilapy; ,e;jpahtpd; rpwe;j J}a;ikapd; 
rpd;dkhf mwptpf;fg;gl;l ,lk; vJ? 
a. kPdhl;rp mk;kd; Nfhapy;> jkpo;ehL 
b. jpUg;gjp Nfhapy;> Me;jpu gpuNjrk; 
c. it~;zt Njtp Myak;> [k;K & fh~;kPh; 
d. jh[; kfhy;> cj;jpu gpuNjrk; 

 
14. Find out the incorrect statements: 

1. The Event Horizon Telescope (EHT) team has been won the 2020 „Breakthrough 
Prize in Fundamental Physics‟. 

2. The world‟s first image of a blackhole circled by a flame – Orange halo of white – 
hot plasma on a Messier 87 (M&F) galaxy was produced by the team on 10th April, 
2019. 

a. 1  b. 2  c. Both  d. None 
jtwhd $w;Wfis fz;lwpf. 
1. Event Horizon Telescope FOthdJ 2020 – d; mbg;gil “,aw;gpaypy; xU 

jpUg;GKid” ghpir ntd;Ws;sJ. 
2. cyfpd; Kjy; fUe;Jis glkhdJ nk];]pah; 87 Nfyf;rpapy; #lhd gpsh];kh> 

MuQ;R nts;is xsptl;l neUg;G tisak; #oe;Js;sJ Nghy cs;sij Vg;uy; 10> 
2019 ,y; xU FOthy; cUthf;fg;gl;lJ.  

 a. 1  b. 2   c.  ,uz;Lk;    d. VJkpy;iy  
  
15. Who has become the first Indian woman athlete to be recommended for Padma 

Vibhushan? 
a. Mary Kom   b. Hima Das   
c. PV Sindhu    d. Sania Mirza 
gj;k tpg+~d; tpUJf;F ghpe;Jiu nra;ag;gl;Ls;s Kjy; ,e;jpa jlfs  tPuhq;fid 

 ahh;? 
a. Nkhp Nfhk;   b. `pkh jh]; 
c. PVrpe;J   d. rhdpah kph;rh 
 

16. Who has been conferred with the Dr. Kalam Smriti International Excellence award 2019 
for her vision of a peaceful and prosperous South Asia, free of tension, conflicts & 
terrorism? 
a. Mamata Banerjee   b. Aung San Suu Kyi 
c. Sushma Swaraj   d. Sheikh Hasina 
gjw;wk;> Nkhjy;fs; kw;Wk; gaq;futhjk; ,y;yhj mikjpahd kw;Wk; typikahd njw;F 
Mrpah vd;w ghh;itf;fhf Dr.fyhk; ];kpUjp rh;tNjr rpwg;G tpUij (2019) thq;fpath; 
ahh;? 
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a. kk;jh ghdh;[p  b. Mq; rhq; # fp 
c. R~;kh ];tuh[;  d. Nrapf; `rpdh  
 

17. The 25th Women‟s National Football Championship was held in which state of India? 
a. Andhra Pradesh    b. Arunachal Pradesh 
c. Uttar Pradesh    d. Himachal Pradesh 
25tJ Njrpa ngz;fs; fhy;ge;J rhk;gpad;~pg; Nghl;b ,e;jpahtpd; ve;j khepyj;jpy; 
eilngw;wJ? 
a. Me;jpug;gpuNjrk;   b. mUzhr;ry gpuNjrk; 
c. cj;jpu gpuNjrk;   d. ,khr;ry gpuNjrk; 

 
18. The 2020 FIFA U-17 Women‟s Cup will be held in which country from 2nd – 21st 

November 2020? 
a. England   b. India  c. West Indies   d. Srilanka 
17 tajpw;F cl;gl;l ngz;fSf;fhd FIFA 2020 Nfhg;ig ve;j ehl;by; 02-21 etk;gh; 
2020 tiu ele;jJ? 
a.,q;fpyhe;J  b. ,e;jpah c. Nkw;F ,e;jpaj; jPTfs; d. ,yq;if 
 

19. Choose the correct statements: 
1. Mayank Vaid from Himachal Pradesh has becom the 44th person in the world & first 

Indian to complete the Enduroman – Act to Arc – a triathlon from England to 
France. 

2. He is also the 1st Asian Person to complete this triathlon   
a. 1 b. 2  c. Both   d. None 
rhpahd $w;Wfis fz;lwpf: 
1. xU biuaj;yhid (Act to Arc) ,q;fpyhe;J Kjy; gpuhd;]; tiu Kbj;j cyfpd; 

44tJ kdpjh; kw;Wk; ,e;jpahtpd; Kjy; egh; ,khr;ry gpuNjrj;ij Nrh;e;j kaq;f; 
itaJ Mthh;. 

2. ,th; ,j;jifa l;iuaj;yhid Kbj;j Kjy; Mrpa egUk; Mthh;. 
 a. 1   b. 2   c.  ,uz;Lk;    d. VJkpy;iy  
 

20. Who has been appointed as the chairmen of association of Worlds Election Bodies (A-
WEB) for the term 2019-2021? 
a. Sunil Arora   b. Sukumar Sen    
c. Om Prakash Rawat  d. Mincu Radulescu 
2019-2021 f;fhd cyf Njh;jy; mikg;Gfspd; rq;f jiytuhf epakdk; 
nra;ag;gl;Ls;sth; ahh;? 
a. Rdpy; mNuhuh  b. RFkhh; nrd; 
c. Xk; gpufh~; uhtj;  d. kpQ;R uLny];F 

 

21. Who has been appointed as the principle secretary to Prime Minister Narendra Modi? 
a. Suranjan Das    b. Anthony Lancelot 
c. Pramod Kumar Mishra   d. Binay Ranjan 
gpujkh; eNue;jpu Nkhbf;F Kjd;ik nrayhsuhf epakpf;fg;gl;lth; ahh;? 
a. RuQ;rd; jh];   b. me;Njhzp yhd;rpyhl; 
c. P.K kp~;uh    d. gpdha; uQ;rd; 
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22. Who has been appointed as the head of the committee to oversee bifurcation of Jammu 
& Kashmir? 
a. Harbaksh Singh    b. Sanjay Mitra 
c. Bimala Prasad    d. Allauddin Khan 
[k;K & fh~;kPh; gphpf;fg;gLtij Nkw;ghh;it ,Ltjw;fhd FOtpd; jiytuhf epakdk; 
nra;ag;gl;lth; ahh;? 
a. `h;gf;~; rpq;   b. rQ;ra; kpj;uh 
c. gpkyh gpurhj;   d. myhTjPd; fhd; 
 

23. The book „Savarkar Echoes from a forgotten past‟ was authored by? 
a. Vikram Sampath    b. Aditya Bhushan 
c. Sachin Bajaj    d. Both a & b 
„Savarkar Echoes from a forgotten past‟ vDk; Gj;jfj;ij vOjpath; 
a. tpf;uk; rk;gj;   b. Mjpj;ah g+~d; 
c. rr;rpd; g[h[;   d. a kw;Wk; b ,uz;Lk; 
 

24. The Book „Turbulence & Triumph: The Modi Years‟ was authored by 
a. Bharathi S Pradhan   b. Rahul Agarwal 
c. Both a & b     d. Vikram Sampath 
„Turbulence & Triumph: The Modi Years‟ vDk; Gj;jfj;ij vOjpath; 
a. ghujp S gpujhd;   b. uhFy; mfh;thy; 
c. a kw;Wk; b ,uz;Lk;  d. tpf;uk; rk;gj; 
 

25. The book „The Cousins Thackeray: Uddhav, Raj & The Shadow of their Senas‟ was 
authored by: 
a. Balasaheb     b. Dharal Kulkarni   
c. Ghanshyam Das Bisha   d. Radhabinod Pal 

 „The Cousins Thackeray: Uddhav, Raj & The Shadow of their Senas‟  vd;w 
 Gj;jfj;ij vOjpath; 
 a. ghyh rhfpg;    b. jhuhy; Fy;fh;dp 
 c. Qhdrpak; jh]; gp]h  d. uhjhgpNdhj; ghy; 
 
26. Which Indian Institute of Technology (IIT) has collaborated with Amazon Web Services 

(AWS) to launch National Artificial Intelligence Resource Portal (NAIRP)? 
a. IIT Kharagpur  b. IIT – Delhi  c. IIT Madras  d. IIT – Kanpur  
ve;j IIT MdJ mNkrhd; tiy Nrit (AWS) cld; ,ize;J Njrpa nraw;if 
Ez;zwpT ts jfit (NAIRP) njhlq;fpAs;sJ. 
a. IIT fuf;g+h;   b. IIT – nly;yp c. IIT nkl;uh];  d. IIT – fhd;g+h;  
 

27. Which company has become the first company to commercial vehicle maker to get BS-
VI certification for heavy duty Trucks? 
a. Mahindra & Mahindra   b. Hindustan Motors 

http://www.appolosupport.com/


 

7 | Page     WWW.APPOLOSUPPORT.COM        PH: 9500099706     

 

c. Tata Motors    d. Ashok Leyland 
fduf yhhpfSf;fhd BS-VI jur; rhd;wpjo; ngw;Ws;s Kjy; tzpf thfd cw;gj;jp 
epWtdk; vJ? 
a. kNfe;jpuh & kNfe;jpuh  b. ,e;J];jhd; Nkhl;lhh;]; 
c. lhlh Nkhl;lhh;];   d. mNrhf; Nyyz;l; 
 

28. The Asia‟s 5th generation – VR based advanced Driver Training Simulator Centre was 
launched in which district of Tamil Nadu? 
a. Coimbatore  b. Chennai   c. Kancheepuram  d. Chengalpet 
Mrpahtpd; Ie;jhk; jiyKiw – VR mbg;gilapyhd Nkk;gl;l Xl;Ldh; gapw;rp ikak; 
jkpofj;jpd; ve;j khtl;lj;jpy; njhlq;fg;gl;Ls;sJ? 
a. Nfhak;Gj;J}h; b. nrd;id  c. fhQ;rpGuk;  d. nrq;fy;gl;L 
 

29. UNESCO has entered into an agreement with which Indian state to promote its 
Intangible Cultural Heritage (ICH)? 
a. Uttar Pradesh   b. Uttarakhand  c. Rajasthan   d. Kerala 
UNESCO mikg;G ve;j khepyj;Jld; mjd; njhl;Lzu Kbahj fyhr;rhu ghuk;ghpaj;ij 
Cf;Ftpf;f xg;ge;jk; nra;Js;sJ? 
a. cj;jpugpuNjrk;  b. cj;jufhz;l; c. uh[];jhd;  d. Nfush 
 

30. Choose the correct statements: 
1. The safe cities Index is released by Economic Intelligence Unit (EIU) measuring 

urban safety, with indicaters categorised as digital, infrastructure, health and 
Personal Security. 

2. Tokyo has been ranked first followed by Singapore and Osaka 
3. From India Mumbai ranked as 45th safest and Delhi at the 52nd position.  
a. 1 & 2  b. 1 & 3 c. 2 & 3   d. All the above  
rhpahd $w;Wfis fz;lwpf. 
1. efh;Gw ghJfhg;ig mstpLk; nghUshjhu Gydha;Tg; gphpT “ghJfhg;ghd efu 

FwpaPl;il” ntspapLfpwJ. ,jd; FwpaPLfshf b[pl;ly;> cs;fl;likg;G> Rfhjhuk; 
kw;Wk; jdpkdpj ghJfhg;G Mfpait mlq;Fk;. 

2. Nlhf;fpNah Kjyplj;jpYk; mjidj; njhlh;e;J rpq;fg;g+h; kw;Wk; xrfh cs;sd. 
3. ,e;jpahtpy; Kk;ig 45 tJ ,lj;jpYk; nly;yp 52tJ ,lj;jpYk; cs;sd. 
a. 1 & 2  b. 1 & 3 c. 2 & 3   d. Nkw;fz;l midj;Jk; 
  

31. Choose the correct statements: 
1. The 2019 World‟s Most liveable city is topped by Vienna (Austria), followed by 

Melbourne and Sydney 
2. In India, New Delhi and Mumbai ranked 118th and 119th out of 140 cities. 
3. Damascas (Syria) ranked the World‟s least leveable city. 
a. 1 & 2  b. 2 & 3 c. 1 & 3  d. All the above 
rhpahd $w;Wfis fz;lwpf: 
1. 2019-y; tpad;dh cyfpd; thoj;jFe;j efuj;jpy; Kjyplj;jpYs;sJ mjidj; 

njhlh;e;J nky;Nghh;d; kw;Wk; rpl;dp cs;sd. 
2. ,e;jpahtpy; nly;yp kw;Wk; Kk;igahdJ 140 efuq;fspy; 118 kw;Wk; 119 tJ 

,lj;ijg; ngw;Ws;sd. 

http://www.appolosupport.com/


 

8 | Page     WWW.APPOLOSUPPORT.COM        PH: 9500099706     

 

3. lkh];f]; (rphpah) filrp ,lk; ngw;Ws;sJ. 
a. 1 & 2  b. 2 & 3 c. 1 & 3 d. Nkw;fz;l midj;Jk; 
 

32. „SITMEX‟-The first ever trilateral naval exercise has started among India and which of 
the following countries? 
a. Indonesia & Thailand    b. Indonesia & Malaysia 
c. Singapore & Malaysia   d. Singapore & Thailand 
„SITMEX‟- Kjy; Kj;jug;G flw;gil gapw;rpahdJ ,e;jpahtpw;Fk; ve;j ehLfSf;Fk; 
,ilNa njhlq;fg;gl;lJ? 
a. ,e;NjhNd~pah & jha;yhe;J  b. ,e;NjhNd~pah & kNyrpah 
c. rpq;fg;g+h; & kNyrpah   d. rpq;fg;g+h; & jha;yhe;J 
 

33. Choose the incorrect statements: 
1. The 24th World Energy Congress was held in Abu Dhabi 
2. The Theme of the congress is „Energy for Prosperity‟ 
a. 1   b. 2   c. Both   d. None 
jtwhd $w;Wfis fz;lwpf: 
1. 24tJ cyf Mw;wy; fhq;fpu]; MdJ mGjhgpapy; eilngw;wJ. 
2. “Mw;wy; kw;Wk; nropg;G” vd;gJ ,jd; ikaf;fUj;jhFk;. 

 a. 1  b. 2   c.  ,uz;Lk;    d. VJkpy;iy  
 

34. Find out the correct statements: 
1. The 38th Sharjah International Book Fair (SIBF-2019) was held between 30th October 

to 9th November 
2. The Theme of (SIBF-2019) is open Books, Open Minds 
3. UNESCO has named sharjah as the world book capital city (WBCC) for year 2019 
a. 1 & 2  b. 2 & 3 c. 1 & 3   d. 1, 2 & 3 
rhpahd $w;Wfis fz;lwpf: 
1. 38tJ ~hh;[h cyf Gj;jf fz;fhl;rpahdJ 30 mf;Nlhgh; Kjy; 9 etk;gh; tiu 

ele;jJ. 
2. ,jd; ikaf;fUj;J “Gj;jfj;ij jpw> Gj;jpiaj; jpw” 
3. ~hh;[hit 2019 Mk; Mz;bd; cyf Gj;jf jiyefukhf UNESCO mwptpj;Js;sJ. 
a. 1 & 2  b. 2 & 3 c. 1 & 3   d. 1, 2 & 3 
 

35. The India‟s first-ever Trans art festival titled “varnapakitt-2019” was held in which 
state? 
a. Kerala  b. Andhra Pradesh   c. Karnataka   d. Telangana 
,e;jpahtpd; Kjy; jpUeq;ifaUf;fhd fiyj; jpUtpohthd “varnapakitt-2019” ve;j 
khepyj;jpy; eilngw;wJ? 
a. Nfush b. Me;jpug; gpuNjrk;  c. fh;ehlfh  d.njYq;fhdh 
 

36. Choose the correct statements: 
1. The 2019 C40 World Mayers Summit was held in Copenhagen, Denmark  
2. The Delhi Chief Minister Arvind Kejriwal will attend the summit to his 

governments experience in lowering pollution. 
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a. 1 b. 2   c. Both   d. None 
 
 
rhpahd $w;Wfis fz;lwpf: 
1. 2019 C40 cyf Nkah;fs; cr;rp khehL nld;khh;fpd; Nfhg;ngd;̀ hfdpy; 

eilngw;wJ. 
2. nly;yp Kjy;th; mutpe; nf[;hpthy; khRghl;il Fiwg;gjpy; mthpd; muR 

mDgtj;jpw;fhf fye;J nfhz;lhh;. 
 a. 1  b. 2    c.  ,uz;Lk;    d. VJkpy;iy  

 
37. The India International Science Festival (IISF-2019) was held in which city? 

a. Kolkata    b. Chennai  c. Hyderabad  d. Vishakhapatnam 
 ,e;jpah cyfshtpa mwptpay; jpUtpoh ve;j efuj;jpy; eilngw;wJ? 
 a. nfhy;fj;jh  b. nrd;id c. i`juhghj ; d. tprhfg;gl;bdk; 
 
38. The International literacy day is celebrated on  

a. Sep 18  b. Sep 5  c. Sep 8  d. Oct 5 
 cyf fy;tpawpT jpdk; vg;NghJ nfhz;lhlg;gLfpwJ? 
 a. nrg;lk;gh;  18 b. nrg;lk;gh;  5       c. nrg;lk;gh;  8 d. mf;Nlhgh; 5 
 
39. Match the following: 

A. International Day of democracy   1. Sept 15 
B. World Bamboo Day     2. Sept 16 
C. International Day of Peace    3. Sept 18 
D. International day for the preservation  
      of the Ozone layer    4. Sept 21 
 A B C D 
a. 1 3 4 2 
b. 1 2 3 4 
c. 1 4 3 2 
d. 1 2 4 3 

 nghUj;Jf. 
 A. cyf kf;fshl;rp jpdk;    1. nrg;lk;gh; 15 
 B. cyf %q;fpy; jpdk;    2. nrg;lk;gh; 16 
 C. cyf mikjp ehs;    3. nrg;lk;gh; 18 
 D. XNrhd; mLf;if ghJfhf;Fk; cyf ehs;  4. nrg;lk;gh; 21 

 A B C D 
a. 1 3 4 2 
b. 1 2 3 4 
c. 1 4 3 2 
d. 1 2 4 3 
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40. Match the following: 

A. World Pharmacist Day    1. Sept 26 
B. World Tourism Day    2. Sept 25 
C. International day for Universal 
     Access to information    3. Sept 28 
D. International day for the total  
      Elimination of nuclear weapons  4. Sept 27 
 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 3 1  
d. 4 3 2 1 

 nghUj;Jf: 
 A. cyf kUe;jhSdh; jpdk;    1. nrg;lk;gh; 26 
 B. cyf Rw;Wyh jpdk;     2. nrg;lk;gh; 25 
 C. cyfyhtpa jfty; mZfYf;fhd cyf jpdk; 3. nrg;lk;gh; 28 
 D. mZ MAjq;fis KOtJkhf xopg;gjw;fhd  4. nrg;lk;gh; 27 
   cyf ehs;   

 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 3 1  
d. 4 3 2 1 

 
41. The 2019 „Vayoshreshtha Samman‟ 2019 was conferred to which of the following state? 

a. Andhra Pradesh   b. Kerala c. Tamil Nadu  d. Telangana 
„Vayoshreshtha Samman‟ 2019 gpd;tUk; ve;j khepyj;jpy; eilngw;wJ? 
a. Me;jpug; gpuNjrk;  b. Nfush c.jkpo;ehL  d. njYq;fhdh 
 

42. Which among the following statements is/are incorrect statements? 
1. The Metro water‟s Grey water treatment plant was inaugurated at Kodangaiyur on 

October 1. 
2. The treated sewage water will be sold to industrial units in Ennore, Manali and 

Minjur belt.  
a. 1  b. 2   c. Both   d. None  
jtwhd $w;Wfis fz;lwpf: 
1. nkl;Nuh ePhpd; (Grey) ePh; Rj;jpfhpg;G epiyak; mf;Nlhgh; 1-,y; nfhLq;ifa+hpy; 

njhlq;fg;gl;lJ. 
2. Rj;jpfhpf;fg;gl;l fopTePh; vz;Z}h;> kzyp kw;Wk; kPQ;#h; njhopw;rhiyfSf;F 

tpw;gid nra;ag;gLfpwJ. 
 a. 1   b. 2    c.  ,uz;Lk;    d. VJkpy;iy  
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43. What is the criteria for ODF status? 
1. All households in a solid area have at least one toilet 
2. No visible human feces in the environment 
Identify the correct statement? 
a. 1 only   b. 2 only  c. Both 1 & 2   d. Neither 1 nor 2 
jpwe;jntsp kyk; fopj;jy; ,y;yhj epiyf;fhd mstPLfs; vd;d? 
1. midj;J FLk;gq;fspYk; Fiwe;jJ xU foptiw ,Uf;f Ntz;Lk;. 
2. Rw;W#oypy; kdpj kyk; fhzg;glhj epiy  

 a. 1   b. 2   c.  ,uz;Lk;    d. VJkpy;iy  
 

44. Which state has attained the top position according to the NITI Aayog‟s repeat titled 
„The Success of our schools – Schools Education Quality Index (SEQI)? 
a. Rajasthan   b. Uttar Pradesh   c. Karnataka   d. Kerala 
epjp MNahf;fpd; “vq;fs; gs;spapd; ntw;wp – gs;sp fy;tp juf;FwpaPL (SEQI)” vd;gjpy; 
Kjyplj;jpy; cs;s khepyk; vJ? 

 a. uh[];jhd;  b. cj;jpu gpuNjrk;  c. fh;ehlfh  d. Nfush 
 
45. Match the following: 

Day       Theme 
A. World Rabies Day    1. Vaccinate to Eliminate 
B. International Day for older persons 2. The Journey to Age Equality 
C. International Teachers day   3. The Future if the profession 
D. International Girl Child Day   4. Before, during and after crises 

A B C D 
 a. 4 3 2 1 
 b. 2 3 4 1 
 c. 3 4 2 1 
 d. 1 2 3 4 
 nghUj;Jf. 
 jpdk;      ikaf;fUj;J 
 A. cyf Nugp]; jpdk;   1. Nehia mfw;w jLg;g+rp ,ly; 
 B. Kjpath;fSf;fhd cyf jpdk;  2. taJ rkj;Jtj;jpw;fhd gazk; 
 C. cyf Mrphpah; jpdk;   3. ,j;njhopNy vjph;fhyk; 
 D. cyf ngz; Foe;ij jpdk;  4. neUf;fbapd; NghJk;> Kd;Dk;   
      gpd;Dk; 

A B C D 
 a. 4 3 2 1 
 b. 2 3 4 1 
 c. 3 4 2 1 
 d. 1 2 3 4 
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46. Match the following: 
Personality     Award 
A. Thanu Padmanabhan  1. Indira Gandhi Award for National 

Integration for 2018 
B. Sachin Tendulkar  2. UNEP‟s Asia Environmental 

Enforcement Award 
C. Ramesh Pandey   3. Most Effective Swachhata Ambassader 
D. Chandi Prasad Bhatt   4. MP Birla Memorial Award 2019 

  A B C D 
 a. 1 2 3 4 
 b. 4 3 2 1 
 c. 2 4 3 1 
 d.  3 4 2 1 
 nghUj;Jf: 
 gpugyk;    tpUJ 
 A. jhZ gj;kehgd;  1. 2018-d; Njrpa xUq;fpizg;Gf;fhd ,e;jpuh fhe;jp  

tpUJ 
 B. rr;rpd; nlz;Ly;fh; 2. UNEP apd; Mrpa Rw;W#oy; mkyhf;f tpUJ 
 C. uNk~; ghz;Nl  3. kpfTk; gaDs;s J}a;ik J}jh; 
 D. rz;b gpurhj; gl;  4. MP gph;yh epidT tpUJ 2019 
  A B C D 
 a. 1 2 3 4 
 b. 4 3 2 1 
 c. 2 4 3 1 
 d.  3 4 2 1 
 
47. Match the following: 

State/Country   Festival 
A. Telangana   1. Shirui Lily Festival 
B. Nepal    2. 10th National Cultural Festival 
C. Madhya Pradesh  3. Floral Festival „Bathukamma‟ 
D. Manipur    4. Bada Dashain 
 A B C D 
a. 4 3 2 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 4 3 1 

 nghUj;Jf: 
 khepyk; / ehL  jpUtpoh 
 A. njYq;fhdh  1. ~pUyp ypy;yp jpUtpoh  
 B. Neghsk;   2. 10 tJ Njrpa fyhr;rhu jpUtpoh 
 C. kj;jpagpuNjrk;  3. kyh; jpUtpoh “ghJf;fk;kh” 
 D. kzpg;g+h;   4. ghjh jrha;d; 
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 A B C D 
a. 4 3 2 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 4 3 1 

 
48. Who has become the first Indian Maestro to have a planet named after him? 

a. Bismillah Kahan   b. Shiv Kumar Sharma 
c. Miyan Tansen   d. Pandit Jasraj 
xU NfhSf;F ,tuJ ngah; #l;lg;gl;Ls;s ngUikia ngw;w Kjy; ,e;jpa kh];nlNuh 
ahh;? 
a. gp];kpy;yh f`hd;  b. rptFkhh; rh;kh 
c. kpahd; jhd;Nrd;  d. gz;bl; [];u[; 
 

49. Who is the author of the book „The RSS: Roadmaps for the 21st century”? 
a. Bill Gates    b. Peter Handke    
c. Sunil Ambedkar   d. Fakir Hassen 
„The RSS: Roadmaps for the 21st century” vd;w Gj;jfj;jpd; Mrphpah; ahh;? 
a. gpy; Nfl;];   b. gPl;lh; N`z;l;Nf 
c. Rdpy; mk;Ngj;fh;  d. gh`ph; `rd; 
 

50. The Swachh Bharat Diwas 2019 was inaugurated from which city? 
a. Ahmedabad  b. Allahabad  c. Noida   d. Pune 
J}a;ik ghuj jpdk; 2019 vq;F nfhz;lhlg;gl;lJ? 
a. mfkjhghj;  b. myfhghj;  c. neha;lh  d. GNd 
 

51. Find out the incorect statements: 
1. India‟s largest „Charkha‟ Made of waste plastic was inaugurated in Noida 
2. The „Charkha‟ Symbolizes Gandhi‟s dream of Swadeshi (Self Sufficiency & Self 

Reliance) 
a. 1  b. 2   c. Both   d. None 
jtwhd $w;Wfis fz;lwpf: 
1. ,e;jpahtpd; kpfg;nghpa Roy; rf;fuk; MdJ gpsh];bf; foptpypUe;J neha;lhtpy; 

cUthf;fg;gl;L cs;sJ. 
2. ,e;j Roy; rf;fuk; fhe;jpapd; RNjrp fdit czh;j;JfpwJ. 
a. 1  b. 2   c. ,uz;Lk;    d. VJkpy;iy 
 

52. Match the following: 
Books          Author 
A. India and the Netherland – Past, Present and Future  1. Bill Gates 
B. 150 Years of celebrating the Mahatma the    2. Peter Handke 
South Africa Legacy        
C. A sorrow beyond Dreams      3. Fakir Hassen 
D. How to Avoid Climate Disaster     4. Venu  

Rajamony 
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 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 3 1 
d. 4 3 2 1 
nghUj;Jf: 
Gj;jfk;        vOjpath; 
A. India and the Netherland – Past, Present and Future        1. gpy; Nfl;]; 
B. 150 Years of celebrating the Mahatma the            2. gPl;lh; N`z;l;Nf 
South Africa Legacy        
C. A sorrow beyond Dreams              3. gh`ph; `rd; 
D. How to Avoid Climate Disaster             4. NtZ uh[Nkhdp 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 3 1 
d. 4 3 2 1 
  

53. Match the following: 
A. World Animal Day      1. Oct 4 
B. World Post Day       2. Oct 9 
C. International Day for Disaster Risk Reduction  3. Oct 11 
D. International Girl Child Day     4. Oct 13 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 4 2 3 
nghUj;Jf: 
A. cyf tpyq;Ffs; jpdk;     1. mf;Nlhgh; 4 
B. cyf jghy; ehs;      2. mf;Nlhgh; 9 
C. NguopT Mgj;J Fiwg;gjw;fhd cyf ehs;  3. mf;Nlhgh; 11 
D. cyf ngz; Foe;ijfs; jpdk;    4. mf;Nlhgh; 13 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 4 2 3 
 

54. Match the following: 
State      Schemes 
A. Andhra Pradesh   1. YSR Vahana Mitra  
B. Uttar Pradesh   2. Mukhya Mantri Kanya Sumangala Yojana 
C. Madhya Pradesh  3. Free ride scheme for women in buses 
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D. Delhi   4. NCERT Course in class 9th & 10th Std in 
  all govt. schools 

  A B C D 
 a. 1 2 3 4  

b. 1 2 4 3  
 c.  1 3 4 2 
 d.  4 3 2 4 
 nghUj;Jf: 
  khepyk;  jpl;lq;fs; 
 A. Me;jpu gpuNjrk;  1. YSR thfd kpj;uh 
 B. cj;jpug; gpuNjrk;  2. Kjyikr;rh; fd;ah Rkq;fy Nah[dh 
 C. kj;jpa gpuNjrk;  3. ngz;fSf;F NgUe;jpy;; ,ytr gazk; 
 D. nly;yp   4. 9 & 10 Mk; tFg;Gfspy; vy;yh muR    
     gs;spfspYk; NCERT fy;tp Kiw 
  A B C D 
 a. 1 2 3 4  

b. 1 2 4 3  
 c.  1 3 4 2 
 d.  4 3 2 4 
 
55. World Trade Organisation (WTO) is hosting the first World Cotton Day (WCD) in 

which of the following city? 
a. New Delhi  b. Geneva   c. Paris   d. New York 
cyf th;j;jf ikakhdJ vq;F Kjy; cyf gUj;jp ehis nfhz;lhbaJ? 
a. GJ jpy;yp  b. n[dpth  c. ghhp];  d. epa+ ahh;f; 
 

56. According to the data on the Pradhan Mantri Jan Arogya Yojana (PMJAY), which states 
most cancer patient‟s availed treatment under the scheme? 
a. Telangana  b. Tamil Nadu  c. Kerala   d. Karnataka 
“gpujk ke;jphp [d MNuhf;a Nah[dh” tpd; juTfspd; gb ve;j khepyj;jpy; mjpf Gw;W 
Nehahspfs; ,j;jpl;lj;jpy; rpfpr;ir ngw;wdh;? 
a. njYq;fhdh b. jkpo;ehL  c. Nfush  d. fh;ehlfh 
 

57. Find out the incorrect statement: 
1. The Nobel Prize 2019 for Physics awarded to James Peebles, Michel Mayor and 

Didier Queloz 
2. The discovery is about the evolution of the universe and the Earth‟s place in the 

cosmos 
a. 1  b. 2   c. Both   d. None 
jtwhd $w;Wfis fz;lwpf: 
1. 2019 ,aw;gpay; Jiwf;fhd Nehgy; ghpR N[k;]; ngg;gpy;];> ikf;Nfy; Nkah;> bbah; 

fpa+Nyh]; MfpNahUf;F toq;fg;gl;lJ. 
2. gpugQ;rj;jpd; ghpzhk fz;Lgpbg;G kw;Wk; mz;lj;jpy; g+kpapd; ,lk; gw;wpa Ma;T 
a. 1 b. 2  c. ,uz;Lk;  d. VJkpy;iy 
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58. India‟s first e-waste clinic was inaugurated in which of the following city? 
a. Raipur   b. Bhopal   c. Jaipur   d. Pune 
,e;jpahtpd; Kjy; kpd;dZf; fopT Rj;jpfhpg;G epiyak; vq;F njhlq;fg;gl;Ls;sJ? 
a. uha;g;g+h;  b. Nghghy;  c. n[a;g+h;  d.GNd 
 

59. The 2019 world Parliament of Science Religion and Philosophy was held in which city? 
a. Pune  b. Kancheepuram   c. Allahabad  d. Varanasi 
mwptpay; kjk; kw;Wk; jj;Jtj;jpw;fhd cyf ghuhSkd;wk; 2019 vq;F eilngw;wJ? 
a. g+Nd b. fhQ;rpGuk;   c. myfhghj;  d. thuzhrp 
 

60. Who has been appointed as the UNESCO Goodwill Ambassador? 
a. Francis Gurry    b. Tijjani Mohammad 
c. Peter Mawrer    d. Yalitza Apacricio 
UNESCO tpd; ey;nyz;z J}juhf epakdk; nra;ag;gl;lth; ahh;? 
a. gpuhd;rp]; fh;hp   b. jp[;[hdp KfkJ 
c. gPl;lh; kht;nuh;   d. ahypl;]h mghfphprpNah 
 

61. „Nomadic Elephant 2019‟ – The Joint Military Training Exercise between India and 
Mongolia was held in which state? 
a. Uttarakhand   b. Himachal Pradesh    
c. Assam    d. Arunachal Pradesh 
„Nomadic Elephant 2019‟ vd;w $l;L ,uhZt gapw;rpahdJ ,e;jpah kw;Wk; kq;Nfhypah 
,ilNa ve;j khepyj;jpy; eilngw;wJ? 
a. cj;jufhz;l;  b. ,khr;ry gpuNjrk; 
c. mrhk;   d. mUzhr;ry gpuNjrk; 
 

62. What is the position of India in the 2019 WEF Global Competitiveness Index? 
a. 48  b. 78  c. 58  d. 68 
cyf nghUshjhu kd;wj;jpy; 2019 Mk; Mz;L cyfshtpa Nghl;bj; jpwd; FwpaPby; 
,e;jpahtpd; epiy vd;d? 
a. 48  b. 78  c. 58  d. 68 
 

63. The 2019 Nobel Peace Prize for his role in ending the 20 year war between Ethiopia and 
Eritrea was conferren on  
a. Abiy Ahmed    b. Aatif Ahmed    
c. Aamir Aahil    d. Aariz Ahmed 
vj;jpNahg;gpah kw;Wk; vhpj;hpah ,ilNaahd 20 tUl Nghiu KbTf;F nfhz;L 
te;jjhy; 2019 Mk; Mz;bd; mikjpf;fhd Nehgy; ghpir ntd;wth; ahh;? 
a. mgp mfkJ   b. Mjpg; mfkJ 
c. mkPh; m`py;   d. `hhp]; mfkJ 
 

64. Match the following: 
Personality    Award 
A. M Venkaiah    1. Highest Civilian honour of Comoros 
B. Priyadharshan    2. National Kishore Kumar Samman for  

http://www.appolosupport.com/


 

17 | Page     WWW.APPOLOSUPPORT.COM        PH: 9500099706     

 

2018-19 
C. Amitabh Chattopadhyay 3. GN Ramachandran Gold Medal  
D. Leeladhar Jagoori   4. 28th Vyas Samman of year 2018 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 3 2 4 1 
d. 1 2 3 4 
nghUj;Jf. 
gpugyk;    tpUJfs; 
A. M. ntq;ifah   1. nfhNkhNuhtpd; cahpa Fbkf;fs;   
      tpUJ 
B. gphpajh;~d;    2. Njrpa fpN~hh; Fkhh; rk;kd; (2018-19) 
C. mkpjhg; rl;Nlhgj;aha;  3. GN uhkr;re;jpud; jq;fg; gjf;fk; 
D. yPy;jhh; [Nfhhp   4. 28tJ tpah]; rk;kd; (2018) 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 3 2 4 1 
d. 1 2 3 4 
 

65. Which of the following states Bride are eligible to receive Rs, 51, 000 under the „Mukhya 
Mantri Kanya Vivah Nikah Yojana‟ on proving groom‟s house has toilet before 
marriage? 
a. Uttar Pradesh    b. Madhya Pradesh  
c. Telangana    d. Andhra Pradesh 
„Mukhya Mantri Kanya Vivah Nikah Yojana‟ - tpy; xU kzg;ngz; jpUkzj;jpw;F 
Kd;ghf kzkfd; tPl;by; foptiw ,Ue;jhy; &.51>000 tiu ngw KbAk;> ,J ve;j 
khepyj;jpy; eilKiwapYs;sJ? 
a. cj;jpu gpuNjrk;   b. kj;jpa gpuNjrk; 
c. njYq;fhdh   d. Me;jpu gpuNjrk; 
 

66. The EX Vajra Prahar 2019 the joint military exercise is between India and which 
country? 
a. Japan   b. United States  c. Russia  d. UAE 
EX Vajra Prahar 2019 $l;L ,uhZtg; gapw;rpahdJ ,e;jpahtpw;Fk; ve;j ehl;bw;Fk; 
,ilapy; ele;jJ? 
a. [g;ghd;  b. mnkhpf;fh  c. u~;ah d. If;fpa muG ehLfs; 
 

67. Who has become the 1st black woman to win the 2019 Man Booker Price for fiction? 
a. Nina Bawden    b. Nadine Gordimer 
c. Margaret Atword   d. Bernardine Evaristo 
2019 Mk; Mz;L khd; Gf;fh; ghpir fw;gid jpwj;Jf;fhf ngw;w Kjy; fWg;gpd 
ngz;kzp ahh;? 
a. epdh gt;ld;   b. ejpd; Nfhh;bkh; 
c. khh;fnul; ml;Nthh;L  d.ngh;dhh;bd; vthp];Nlh 
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68. Which airline has become the world‟s first airline to use Taxibot on A-320 aircraft? 

a. Air India  b. Emirates c. Qatar Airways d. Singapore Airlines 
A-320 tpkhdj;jpy; Taxi bot – I gad;gLj;jpa cyfpd; Kjy; tpkhd epWtdk; vJ? 
a. Vh; ,e;jpah  b. vkpnul;]; c. fj;jhh; Vh;Nt]; d. rpq;fg;g+h; Vh;iyd;]; 
 

69. The 2019 Nobel Prize for Economics was conferred on 
a. Abhijit Banerjee   b. Michael Kremer 
c. Esther Duflo   d. All the above 
2019 Mk; Mz;bd; nghUshjhuj;jpw;fhd Nehgy; ghpir ngw;wth;. 
a. mgp[pj; ghdh;[p   b. ikf;Nfy; fphPkh; 
c. v];lh; lg;Nyh   d. Nkw;fz;l midj;Jk; 
  

70. Who has become the youngest cricketer to score 200 in ODI? 
a. Yashasvi Jaisawal   b. Thirush Kamini 
c. Nilima Jogalekar   d. Rajani Venugopal 
xUehs; Nghl;bapy; 200 ud;fs; mbj;j kpf ,sk;taJ fphpf;nfl; tPuh; ahh;? 
a. ah~tp n[a;~;thy;  b. jpU~; fhkpdp 
c. ePypkh N[hfNyfh;   d. uQ;rdp NtZNfhghy; 
 

71. Which state has attained the top position according to the NITI Aayog‟s first – ever 
India Innovation Index (III)? 
a. Tamilnadu  b. Kerala c. Karnataka  d. Andhra Pradesh 
epjp MNahf;fpd; Kjd;Kjy; “,e;jpahtpd; Gjpa fz;Lgpbg;GfSf;fhd FwpaPl;by; (III)” 
Kjyplk; gpbj;j khepyk; vJ? 
a. jkpo;ehL  b. Nfush c. fh;ehlfh  d. Me;jpug; gpuNjrk; 
  

72. Match the following 
Country / City Summit / Conference 
A. Lyon  1. Global Sanskrit Conference 
B. India  2. 2019 Indo – French Knowledge Summit 
C. Wuhan  3. 2022 Interpol General Assembly 
D. New Delhi 4. 2019 Military World Games 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 4 3 2 1 
d. 2 4 3 1 
nghUj;Jf. 
ehL / efuk;    khehL 
A. yNahd;   1. cyf rk];fpUj khehL 
B. ,e;jpah   2. ,e;jpa-gpnuQ;R mwpTrhh; khehL (2019) 
C. T`hd; (rPdh)  3. ,d;lh;Nghy; nghJ rig (2022) 
D. GJjpy;yp   4. cyf ,uhZt tpisahl;Lfs; (2019) 
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 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 4 3 2 1 
d. 2 4 3 1 
 

73. Tulagi Island, which is in news is the territory of which country? 
a. Indonesia  b. Solomon  c. Madagascar d. Haiti 
nra;jpfspy; ,lk; ngWk; Jyfp jPT ve;j ehl;bd; vy;iyf;Fl;gl;lJ? 
a. ,e;NjhNd~pah b. rhykd;  c. klfh];fh;  d. i`jp 
 

74. „EKUVERIN‟ – the joint military exercise between India and Maldives was held in 
which city? 
a. Pune  b. Chennai c. Hyderabad  d. Vishakapatnam 
„EKUVERIN‟ vDk; $l;L ,uhZt gapw;rpahdJ ,e;jpah kw;Wk; khyj;jPTf;F ,ilNa 
ve;j efuj;jpy; eilngw;wJ? 
a. g+Nd  b. nrd;id c. i`juhghj;  d. tprhfg;gl;bdk; 
 

75. Which of the following state has adopted a „Population and Women Empowerment 
Policy‟ and decided to make government jobs out of bounds for people with more than 
2 children from 1st January 2021? 
a. Tripura  b. Uttar Pradesh c. Manipur  d. Assam 
ve;j khepyk; “kf;fs;njhif kw;Wk; ngz; mjpfhuk;” nfhs;ifia Vw;Wf; nfhz;L 
[dthp 1> 2021 Kjy; 2 Foe;ijfSf;F Nky; cs;s kf;fSf;F muR NtiyapypUe;J 
tpyf;F mspf;f cs;sJ? 
a. jphpGuh  b. cj;jpugpuNjrk; c. kzpg;g+h;  d. mrhk; 
 

76. P and Q can do a piece of work in 20 days and 30 days respectively. They started the 
work together and Q left after some days of work and P finished the remaining work in 
5 days. After how many days from the start did Q leave? 
a. 5 days  b. 9 days  c. 4 days  d. 14 days  

P kw;Wk; Q  MfpNahh; xU Ntiyia KiwNa 20 kw;Wk; 30 ehs;fspy; Kbg;gh; mth;fs; 
,UtUk; xd;whfr; Nrh;e;J Ntiyiaj; njhlq;fpdhh;.  rpy ehs;fs; Ntiy nra;j gpwF 
Q Mdth; nrd;WtpLthh;.  kPjKs;s Ntiyia  P Mdth; 5 ehs;fspy; Kbf;fpwhh; 

vdpy;> njhlq;fpajpypUe;J vj;jid ehs;fSf;F gpwF Q Ntiyia tpl;Lr; nrd;whh;? 
a. 5 ehl;fs;  b. 9 ehl;fs;  c. 4 ehl;fs;  d. 14 ehl;fs; 
 

77. A man takes 10 days to finish a job where as a woman takes 6 days to finish the same 
job. Together they worked for 3 days and then the woman left. In how many days will 
the man complete the remaining job? 
a. 3 days  b. 6 days  c. 4 days  d. 2 days 
xU Ntiyia Kbf;f Xh; Mz; 10 ehs;fSk; xU ngz; 6 ehs;fSk; vLj;Jf; 
nfhs;fpd;wdh;.  ,UtUk; Nrh;e;J me;j Ntiyia 3 ehs;fs; nra;j gpwF> me;j ngz; 
Ntiyia tpl;Lr; nrd;W tpLfpwhh;.  kPjKs;s Ntiyia me;j Mz; vj;jid 
ehs;fspy; Kbg;ghh;? 
a. 3 ehl;fs;  b. 6 ehl;fs;  c. 4 ehl;fs;  d. 2 ehl;fs; 
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78. 5 boys or 3 girls can do a science project in 40 days. How long will it take for 15 boys 
and 6 girls to do the same project? 
a. 2 days  b. 8 days  c. 4 days  d. 10 days  
5 khzth;fs; my;yJ 3 khztpfs; xU mwptpay; jpl;lr; nraiy 40 ehs;fspy; 
Kbg;gh;.  15 khzth;fs; kw;Wk; 6 khztpfs; mNj jpl;lr; nriyia Kbf;f vj;jid 
ehs;fshFk;? 
a. 2 ehl;fs;  b. 8 ehl;fs;  c. 4 ehl;fs;  d. 10 ehl;fs; 

 
79. If 32 men working 12 hours a day can do a work in 15 days, how many men working 10 

hours a day can do double that work in 24 days? 
a. 48    b. 24   c. 12   d. 60 
32 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia  15 ehs;fspy; 
Kbg;gu; vdpy;> me;j Ntiyapd; ,U klq;if  vj;jid  Mz;fs; ehnshd;Wf;F 10 
kzp Neuk; Ntiy nra;J 24 ehs;fspy; Kbg;gh;? 

 a. 48    b. 24   c. 12   d. 60 
 
80. Three men, four women and six children can complete a work in seven days. A women 

does double the work a man does and a children does half the work of a man. How 
many women alone can complete this work in 7 days? 
a. 7       b. 8  c. cannot determined  d. none of these 
xU Ntiyia 3 Mz;fSk; 4 ngz;fSk; kw;Wk; 6 rpWth;fSk; Nrh;e;J 7 ehl;fspy; 
nra;J Kbf;fpd;whh;fs;. xU ngz; Miz tpl ,Uklq;F nra;fpwhs;. xU rpWtd; 
Mzpd; ghjpNtiyia nra;fpwhh;fs;. me;j Ntiyia ngz;fs; kl;Lk; 7 ehs; 
nra;fpwhh;fs; vd;why;> vj;jid ngz;fs; me;j Ntiyia nra;thh;fs;? 
a. 7  b. 8  c. fz;lwpa ,ayhJ  d. vJTkpy;iy 

 
81. A and B can separately do a piece of work in 45 days and 40 days respectively.  They 

worked together for some time, and then B completed the remaining work in 23 days.  
Find the number of days A had worked for: 
a. 7 days    b. 9 days    c. 10 days    d. 12 days  
A kw;Wk; B Mfpa ,UtUk; xU Fwpg;gpl;l Ntiyia jdpj;jdpahf KiwNa 45 ehl;fs; 
kw;Wk; 40 ehl;fspy; nra;J Kbg;ghh;fs;.  mth;fs; rpy ehl;fs; xd;whf Ntiy 
nra;jhh;fs;.  gpd;dh; kPjpAs;s Ntiyia 23 ehl;fspy; B nra;J Kbj;jhh;. A vj;jid 
ehl;fs; Ntiy nra;jhh; vd;W fz;Lgpbf;fTk;?  
a. 7 ehl;fs;     b. 9 ehl;fs;   c. 10 ehl;fs;   d. 12 ehl;fs; 

 
82. A, B and C can do a work in 6, 8 and 12 days respectively. Doing that work together 

they get an amount of Rs 1350. What is the share of B in that amount? 
 a. 150  b. 450  c. 300  d. 400 

A, B kw;Wk; C MfpNahh; xU Fwpg;gpl;l Ntiyia KiwNa 6> 8 kw;Wk; 2 ehl;fspy; 
nra;J Kbg;ghh;fs;.  mth;fs; midtUk; xd;W Nrh;e;J me;j Ntiyia Kbj;jjw;fhd 
Cjpakhf &.1350I ngWfpd;wdh;. me;jj; njhifapy; B,d; gq;F vd;d? 
a. 150  b. 450  c. 300  d. 400 

 
83. A and B can do a work in 8 days, B and C in 12 days, C and A in 24 days. If A, B and C 

work together, then the number of days, they will complete the work is  
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a. 6  b. 7  c. 8  d. 4 
A kw;Wk; B vd;gth;fs; xU Ntiyia 8 ehl;fspYk;>B kw;Wk; C vd;gth;fs;> 12 
ehl;fspYk;>C kw;Wk; A vd;gth;fs; 24 ehl;fspYk; mt;Ntiyia Kbf;fj; Njitg;gLk; 
ehl;fs; 
a. 6  b. 7  c. 8  d. 4 
 

84. Three men A, B and C can complete a job in 8, 12 and 16 days 
respectively. A and B work together for 3 days; then B leaves and 
C joins. In how many days, can A and C finish the work? 
a. 2 days  b. 3 days  c. 12 days  d. 4 days 
A, B, C vd;w %th; xU Ntiyia KiwNa 8> 12> 16 ehl;fspy; Kbg;ghh;fs;. A, B 
,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fSf;F nra;jdh;. gpd;dh; B tpyFfpd;whh;>C 
NrUfpd;whh; vdpy;>A, C Mfpa ,UtUk; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;fs;? 
a. 2 ehl;fs;  b. 3 ehl;fs;  c. 12 ehl;fs;  d. 4 ehl;fs; 

 
85. If 30 labours working 5 hours a day can make a 300 metres long road in 32 days, how 

long will it take 20 labours to make the 100 metres long road working 8 hours a day? 
a. 10 days  b. 15 days  c. 20 days   d. 25 days 
30 Ntiyahl;fs; xUehisf;F 5 kzpNeuk; cioj;J 32 ehl;fspy; 300 kPl;lh; 
ePsrhiyiag; NghlKbAk; vd;why;> 20 Ntiyahl;fs; xUehisf;F 8 kzpNeuk; 
cioj;J 100 kPl;lh; rhiyiag; NghLtjw;Fvj;jidehl;fs; Njitg;gLk;? 
a. 10 ehl;fs;  b. 15 ehl;fs;  c. 20 ehl;fs;  d. 25 ehl;fs; 

 
86. A can do a piece of work in 14 days which B can do in 21 days. They begin together but 

3 days before the completion of the work, A leaves off. The total number of days to 
complete the work is : 

a. 
3

6
5

  b. 
1

8
2

  c. 
1

10
5

  d. 
1

13
2

 

B 21 ehl;fspy; Kbf;Fk; xU Ntiyia A 14 ehl;fspy; Kbg;ghh;. mth;fs; ,UtUk; 
Nrh;e;J xU Ntiyia Muk;gpj;J Ntiyia Kbg;gjw;F 3 ehl;fSf;F Kd;dh; A 
tpyfpnfhs;fpwhh; vdpy; Ntiy Kba nkhj;jk; vj;jid ehl;fs; MFk;? 

a. 
3

6
5

  b. 
1

8
2

  c. 
1

10
5

  d. 
1

13
2  

 
87. A can finish a job in 20 days and B can complete it in 30 days. They work together and 

finish the job. If Rs. 600 is paid as wages, find the share of each. 
a. A=Rs. 360, B= Rs. 240   b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200   d. A=Rs. 240, B= Rs. 360 
A xU Ntiyia 20 ehl;fspYk;> mNj Ntiyia B 3 ehl;fspYk; Kbg;gh;. ,UtUk; 
Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J 600I jq;fs; tUthahfg; ngw;wdh; vdpy; 
mth;fs; xt;nthUtUk; ngWk; njhif vt;tsT? 
a. A=Rs. 360, B= Rs. 240   b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200   d. A=Rs. 240, B= Rs. 360 
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88. A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to 
do it for Rs.3200. With the help of C, they completed the work in 3 days. How much is 
to be paid to C? 
a. Rs. 575  b. Rs. 400   c. Rs. 600   d. Rs. 800 
xU Ntiyia A kl;Lk; 6 ehl;fspYk; B kl;Lk; 8 ehl;fspYk; Kbg;gh;. A kw;Wk; B 
mt;Ntiyf;F $ypahf &.3200 KbTnra;J> C-d; cjtpAld; 3 ehl;fspy; mt;Ntiyia 
Kbf;fpd;wdh; vdpy; C ngWk; $yp vt;tsT? 
a. Rs. 575  b. Rs. 400   c. Rs. 600   d. Rs. 800 

 
89. If A and B, working together, can finish a work in 6 days and B alone can complete the 

work in 10 days, then A working alone, can complete the work in  
a. 14 days        b. 18 days  c. 12 days   d. 15 days 
A kw;Wk; B ,UtUk; Nrh;e;J xU Ntiyia 6 ehl;fspy; Kbg;gh;. B kl;Lk; jdpahf 
mt;Ntiyia 10 ehl;fspy; Kbe;jhy;> mNj Ntiyia A kl;Lk; jdpahf nra;J Kbf;f 
vLj;Jf; nfhs;Sk; ehl;fs; 
a. 14 ehl;fs;  b. 18 ehl;fs;  c. 12 ehl;fs;  d. 15 ehl;fs;  

 
90. If 56 men can do a piece of work in 42 days, number of men do the same work in 14 

days is   
a. 156   b. 168    c. 119   d. 148 
56 Mz;fs; xU Ntiyia 42 ehl;fspy; Kbf;fpd;wdh;. mNj Ntiyia 14 ehl;fspy; 
Kbg;gjw;F Njitg;gLk; Mz;fspd; vz;zpf;if 
a. 156   b. 168    c. 119   d. 148 

 
91. A garrison has enough food for 60 days. After 20 days, 400 men are reinforced. Now the 

food would last for 36 days only. Find out the total number of men in the garrison 
initially. 
a. 3200         b. 4000         c. 2900           d. 3600  
xU fhty; gilapy;> 60 ehl;fSf;F NghJkhd czT itf;fg;gl;Ls;sJ.  20 ehl;fs; 
fle;j gpwF> 400 Ngh; kPz;Lk; Nrh;j;Jf; nfhs;sg;gl;ldh;.  jw;NghJ> me;j czT 36 
ehl;fSf;F kl;LNk tUk;.  me;jg; gilapy; Muk;gj;jpy; ,Ue;j tPuh;fspd; 
vz;zpf;ifiaf; fz;Lgpbf;fTk;. 
a. 3200         b. 4000         c. 2900           d. 3600  

 

92. An empty water tank being filled with water at a constant rate takes 8 hours to fill 
2

7
of 

its capacity.  How much more time will it take to finish the filling of the water tank? 
a. 28 hours  b. 20 hours  c. 8 hours  d. 10 hours 

xNu rPuhd Ntfj;jpy; tUk; jz;zPhpd; %yk; xU jz;zPh; njhl;bapd; 
2

7
gq;F kl;Lk; 

epug;g 8 kzpfs; Mfpd;wd.  kPjKs;s njhl;b KOtJk; epuk;g ,d;Dk; vt;tsT Neuk; 
MFk;? 
a. 28 kzp Neuk; b. 20 kzp Neuk; c. 8 kzp Neuk; d. 10 kzp Neuk; 
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93. 4 Indians and 4 Chinese can do a piece of work in 3 days. While 2 Indians and 5 Chinese 
can finish it in 4 days. How long would it take for 1 Indian to do it? 
a. 14 days        b. 18 days  c. 12 days   d. 15 days 
4 ,e;jpau;fs; kw;Wk; 4 rPdu;fs; Nru;e;J 3 ehs;fspy; xU Ntiyia Kbf;fpwhu;fs;. 2 
,e;jpau;fs; kw;Wk; 5 rPdu;fs; Nru;e;J mNj Ntiyia 4 ehs;fspy; Kbf;fpwhu;fs; vdpy;> 
,g;gzpiaj; jdpahf xU ,e;jpau; vj;jid ehs;fspy; nra;thu;?   
a. 14 ehl;fs;  b. 18 ehl;fs;  c. 12 ehl;fs;  d. 15 ehl;fs;  

 
94. One pipe can fill a tank three times as fast as another pipe. If together the two pipes can 

fill the tank in 36 minutes, then the slower pipe alone will be able to fill the tank in: 
a. 81 min.  b. 108 min   c. 144 min  d. 192 min. 
xU FohahdJ kw;nwhU Fohiag; Nghy 3 klq;F Ntfkhf epug;Gk;> ,t;tpuz;L 
Foha;fSk; Nrh;e;J 36 epkplj;jpy; xU njhl;bia epug;GfpwJ vdpy;> ,uz;lhtJ Foha; 
jdpahf mj;njhl;bia epug;g vLj;Jf;nfhs;Sk; Neuk; vt;tsT? 
a. 81 epkplq;fs; b. 108 epkplq;fs;  c.144 epkplq;fs;  d. 192 epkplq;fs; 

 
95. Some men promised to do a job in 16 days. But 6 of them were absent and the 

remaining men did the job in 20 days. What is the original strength? 
a. 36 men            b. 96 men            c. 30 men             d. 20 men 
rpy egh;fs; Nrh;e;J xU Ntiyia 16 ehl;fspy; nra;J Kbg;gjhf cWjp mspj;jdh;.  
Mdhy; mth;fspy; 6 Ngh; Ntiyf;F tutpy;iy.  kPjpAs;sth;fs; me;j Ntiyia 20 
ehl;fspy; nra;J Kbj;jdh;.  Muk;gj;jpy; ,Ue;j egh;fspd; vz;zpf;if vd;d? 
a. 36 Ngh;            b. 96 Ngh;             c. 30 Ngh;             d. 20 Ngh; 

 
96. A person travels a certain distance at 3 km/hr and he reaches 15 minutes late. If he 

travels 4 km/hr he reaches 15 minutes earlier.  The distance he has travelled is:    
a. 6 km  b. 4 km  c. 8 km  d. 2 km 
xUth; xU Fwpg;gpl;l J}uj;ij kzpf;F 3 fp.kP Ntfj;jpy; fle;jhy; Fwpj;j Neuj;jpw;F 15 
epkplq;fs; jhkjkhf nry;fpwhh;. mNj Neuk; kzpf;F 4 fp.kP Ntfj;jpy; nrd;why; 15 
epkplk; Kd;djhf nry;thh; vdpy; mth; fle;j J}uk; vt;tsT? 
a. 6 fp.kP  b. 4 fp.kP  c. 8 fp.kP  d. 2 fp.kP  

 
97. If the distance from A to B is 600km and Akbar goes from A to B at a speed 40km per 

hour and returns from B to A at a speed of 60 km per hour the overall average speed is  
a. 45 kmph  b. 48 kmph  c. 50 kmph  d. 52 kmph 
A vd;w ,lj;jpypUe;J B 600 fp.kP J}uj;jpy; cs;sJ.  mf;gh; A apypUe;J B vDk; 
,lj;jpw;F kzpf;F 40 fp.kP. Ntfj;jpYk;.  B apypUe;J A vDk; ,lj;jpw;F kzpf;F 60 
fp.kP Ntfj;jpYk; nrd;why;> ruhrhp Ntfk; vd;d?  

 a. 45 fp.kP/kzp Neuk;   b. 48 fp.kP/kzp Neuk;  
 c. 50 fp.kP/kzp Neuk;   d. 52 fp.kP/kzp Neuk; 
 
98. If a car travels at 60km per hours for 2 hours and then at the speed of 80km perhour for 

4 hours.  What is the average speed? 
a. 68kmph  b. 70kmph  c. 72.1 kmph  d. 73.3kmph 
xUfhh; kzpf;F 60 fp.kPNtfj;jpy; 2 kzpNeuk; gazpf;fpwJ.  gpd; 4 kzpNeuk; kzpf;F 
80 fpkPNtfj;jpy; nry;fpwJ. ruhrhpNtfk; vd;d? 
a. 68kmph  b. 70kmph  c. 72.1 kmph  d. 73.3kmph 
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99. A man is walking at 10 km per hour. After every kilometer, he takes rest for 5 min. How 

much time will be taken to cover a distance of 5 km? 
a. 35 min  b. 50 min  c. 55 min  d. 40 min 
xUth; kzpf;F 10 fp.kP Ntfj;jpy; ele;J nry;fpwhh;.  Xt;nthU fpNyh kPl;liu 
fle;jgpd; 5 epkplq;fs; Xa;T vLf;fpwhh; vdpy; mth; 5 fp.kP J}uj;ij vt;tsT Neuj;jpy; 
flg;ghh;? 
a. 35 epkplq;fs; b. 50 epkplq;fs; c. 55 epkplq;fs; d. 40 epkplq;fs; 

 
100. A worker may claim Rs.15 for each km which he travels by taxi and Rs. 5 for each km 

which he drives his own car. If in one week he claimed Rs 500 for traveling 80 km how 
many kms did he travel by taxi 

 a. 10   b. 20   c. 30   d. 40 
 xU cj;jpNahf];jh; / gzpahsh; jhk; gazk; nra;tjw;F 1 fpNyh kPl;lUf;F &.15 

tPjk; gazg;gb thliff; fhhpy; nrd;why; ngwyhk;.  jd; fhhpy; gazj;jhy; fpNyh 
kPl;lUf;F &.5 gazg;gb ngwyhk;. xU  thuj;jpy; mth; &.500 gazg;gbia 80 fpNyh 
kPl;lh; gazj;jpw;F ngw;why; mth; thlif fhhpy; gazpj;j J}uk;  vj;jid fpNyh 
kPl;lh;? 

 a. 10   b. 20   c. 30   d. 40 
 
101. A train 150 metres long passes a telegraph post in 12 seconds. Find the speed of the 

train. 
a. 15 km/hr  b. 30 km/hr  c. 45 km/hr  d. 60 km/hr 
150 kPl;lh; ePsKs;s Giftz;b xU je;jpf; fk;gj;ij  
12 tpdhbfspy; fle;jhy; me;j Giftz;bapd; Ntfj;ijf; fhz;f. 
a. 15 km/hr  b. 30 km/hr  c. 45 km/hr  d. 60 km/hr 

 
102. A train 160 m long is running at 40 km/hr. In how much time will it pass a platform 140 

m long? 
a. 21 seconds  b. 22 seconds  c. 25 seconds  d. 27 seconds 
160 kP ePsKs;s xU ,uapy; tz;b kzpf;F 40 fp.kP Ntfj;jpy; nry;Yk;. me;j ,uapy; 
tz;b 140 kP ePsKs;s xU gpshl;ghuj;ij flf;f vt;tsT Neuk; MFk;? 
a. 21 tpdhbfs; b. 22 tpdhbfs; c. 25 tpdhbfs; d.27 tpdhbfs; 

 
103. A student goes to his school from his house at a speed 3 km / hr and returns at a speed 

of 2 km/hr. If he takes 5 hours in going and coming the distance between his house and 
school is 

  a. 5 km  b. 5.5 km   c. 6 km  d. 6.5 km 
xU khztd; mtDila gs;spf;Fr; nry;Yk; NghJ kzpf;F 3 fp.kP. Ntfj;jpYk; 
gs;spapypUe;J tPL jpUk;Gk; NghJ kzpf;F 2 fp.kP. Ntfj;jpYk; nry;fpwhh;. NkYk; mth; 
gs;spf;F nrd;W tu 5 kzp Neuk; vLj;Jf; nfhz;lhy; gs;spf;Fk; tPl;bw;Fk; cs;s 
J}uk; 
a. 5 fp.kP.  b. 5.5 fp.kP.   c. 6 fp.kP.  d. 6.5 fp.kP. 

 
104. A train starts from a place A at 6 a.m and arrives at another place B at 4.30 p.m. on the 

same day. If the speed of the train is 40 km per hour. Find the distance travelled by the 
train. 
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a. 42 km  b. 420 km  c. 430 km  d. 480 km 
xU Giftz;b A vd;w ,lj;jpypUe;J fhiy 6 kzpf;F Gwg;gl;L B vd;w ,lj;jpw;F 
khiy 4.30 kzpf;F mNj ehspy; te;jilfpwJ. Giftz;bapd; Ntfk; kzpf;F 40 fp.kP 
vdpy; Giftz;b fle;j njhiyitf; fhz;f.  

 a. 42 fp.kP  b. 420 fp.kP  c. 430 fp.kP  d. 480 fp.Kp 
 
105. A train takes 18 seconds to pass through a platform 162 m long and 15 seconds to pass 

through another platform 120 m long  then the length of the train in 
 a. 90 m  b. 100 m  c. 110 m  d. 120 m 
 xU njhlh; tz;b (train) 162 kP ePsKs;s eilNkilia 18 tpdhbfspYk;>  120 kP 

ePsKs;s kw;nwhU eilNkilia 15 tpdhbfspYk; fle;jhy; njhlh;  tz;b ePsk; 
vd;d? 

 a. 90 kP  b. 100 kP  c. 110 kP  d. 120 kP  
 

106. The value of
1 1 1 1

.......
2 1 3 2 4 3 9 8

   
   

 is:  

a. 1 2 3 4 ...... 9      b. 3 5 7   c. 10 5   d. 2 

      
1 1 1 1

.......
2 1 3 2 4 3 9 8

   
   

 -d; kjpg;igf; fhz;f 

a. 1 2 3 4 ...... 9      b. 3 5 7   c. 10 5   d. 2  

      

107. If 2 2x y x y xy     then the value of 9 11  

a. 103  b. 112  c. 127  d. 200 
2 2x y x y xy     vdpy;>9 11  -d; kjpg;G fhz;f 

a. 103  b. 112  c. 127  d. 200 
 
108. If p(x) = 7x3 - 5x2 + 3x - 9 , then what is the sum of p(- 1) and p(2). 

a. 33    b. -24   c. -9    d. 9  
p(x) = 7x3 - 5x2 + 3x – 9 vdpy;>  p(- 1) kw;Wk; p(2) –d; $Ljy; fhz;f. 
a. 33    b. -24   c. -9    d. 9  

 
109. Sum of a number and its reciprocal is 4 then value of sum of cube of the number and 

reciprocal of the cube is  
a. 64   b. 52   c. 48   d. 24 
Xh; vz; kw;Wk; mjd; jiyfPopd; $l;Lj;njhif 4 vdpy;.  mt;ntz;zpd; Kk;kb kw;Wk; 
Kk;kbapd; jiyfPo; Mfpatw;wpd; $l;Lj;njhif vt;tsT?  
a. 64   b. 52   c. 48   d. 24 

 

110. Simplify:  3 54 81 216 32   = ? 

a. 10   b. 11   c. 9   d. 4 

RUf;Ff : 3 54 81 216 32   = ? 

a. 10   b. 11   c. 9   d. 4 
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111. If tan
x


  , then the value of 

2 2

x

x 
is equal to  

 a. cos  b. sin  c. cosec  d. sec 

 
tan

x


   vdpy; 

2 2

x

x 
d; kjpg;G 

 a. cos  b. sin  c. cosec  d. sec 
 
112. A girl is 37.5 m away from a tower.  Her eye level above the ground is 2.5 m.  The angle 

of elevation of the tower from her eyes is 45°.  What is the height of the tower? 
a. 35 m      b. 37.5 m      c. 40 m      d. 42.5 m 
xU NfhGuj;jpypUe;J 37.5 kP J}uj;jpy; epd;W nfhz;bUf;Fk; xU khztp NfhGuj;jpd; 
cr;rpia 45 Vw;wf; Nfhzj;jpy; fhz;fpwhs;. mtSila fpilepiyg; ghh;itf; NfhL 
jiuapypUe;J 2.5 kP cauj;jpy; cs;sJ vdpy;> NfhGuj;jpd; cauk; vd;d? 

 a. 35 kP  b. 37.5 kP  c. 40 kP  d. 42.5kP 
 
113. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product 

we get – 7/12. What is the number? 
a. -3/2  b. 3/2   c. ½   d. -1/2 
xU tpfpjKW vz;iz 5/2-y; ngUf;fp tUk; ngUf;fw;gyDld; 2/3 If; $l;bdhy; -
 7/12 fpilf;Fk; vdpy; mt;tpfpjKW vz; vJ? 

 a. -3/2  b. 3/2   c. ½   d. -1/2 
 

114. 

3 11 25 11 33

2 5 44 5 15

 
     

  ? 

 a. 
1

1
5

   b. 
2

3
   c. 

126

125
   d.

101
5

125
 

 

3 11 25 11 33

2 5 44 5 15

 
     

  ? 

 a. 
1

1
5

   b. 
2

3
   c. 

126

125
   d.

101
5

125
 

115. Simplify : 

3

4 2

8

4 16

x

x x



   

 a. 
2

2

2 4

x

x x



    b. 
2

2

2 4

x

x x



    c. 
2

2

2 4

x

x x



    d. 
2

2

2 4

x

x x



   

 RUf;Ff :

3

4 2

8

4 16

x

x x



   

 a. 
2

2

2 4

x

x x



    b. 
2

2

2 4

x

x x



    c. 
2

2

2 4

x

x x



    d. 
2

2

2 4

x

x x



   
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116. Simplify 99 
48

49
 × 245  

a. 24495   b. 24899   c. 24485  d. 24895 

RUf;Ff. 99 
48

49
 × 245 

a. 24495   b. 24899   c. 24485  d. 2489 
 

117. Simplify :  
3 3

2 3

(9.8) (6.8)

(9.8) 9.8 6.8 (6.8)



  
 

a. 0   b. 1   c. 2    d. 3 

RUf;Ff: 
3 3

2 3

(9.8) (6.8)

(9.8) 9.8 6.8 (6.8)



  
 

a. 0   b. 1   c. 2    d. 3 
 

118. The value of 48 12 × 
9 4 3 2

8 3 4 3
of of is

 
 

 
 

a. 1 
1

3
   b. 5 

1

3
   c. 3   d. 12 

48 12 × 
9 4 2 2

8 3 3 3

 
 

 
,y; ,y; 

 
apd; kjpg;G ________. 

a. 1 
1

3
   b. 5 

1

3
   c. 3   d. 12 

 

119. If x - 
1

x
  4 then x3 - 3

1

x
 is   

a. 64   b. 70   c. 72   d. 76 

x - 
1

x
  4 vdpy; x3 - 3

1

x
=? 

a. 64   b. 70   c. 72   d. 76 
 

120. If 2x = 3 32  then find value of x. 

a. 5   b. 3  c. 3/5  d. 5/3 

2x = 3 32  vdpy;  x-d; kjpg;G fhz;. 

a. 5   b. 3  c. 3/5  d. 5/3 
 

121. If 
6

2 7

x

y
 , the value of 

14

19

x y

x y





is 

a. 
13

19
   b. 

15

19
   c. 1   d. 

1
1
19

 

6

2 7

x

y
  vdpy;

 

14

19

x y

x y





 -d; kjpg;G 
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a. 
13

19
   b. 

15

19
   c. 1   d. 

1
1
19

 

 

122. 
48.4

0.289
is equal to: 

a. 
7

129
17

   b. 
5

1
17

   c. 
16

12
17

  d. 
1

12
17

 

kjpg;G fhz;: 

48.4

0.289  

a. 
7

129
17

   b. 
5

1
17

   c. 
16

12
17

  d. 
1

12
17  

 
123. Simplify the following. 

3 3 37 2 6 16 54   

a. 
316 2   b. 1   c. 0   d. 216 3  

gpd;tUtdtw;iw RUf;Ff 
3 3 37 2 6 16 54   

a. 
316 2   b. 1   c. 0   d. 216 3  

 

124. Find 3 3x y  if 5x y  and 16xy   

a. 365  b. 125   c. 115   d. 80 

5x y   kw;Wk; 16xy  vdpy; 3 3x y -d; kjpg;G fhz;f 

a. 365  b. 125   c. 115   d. 80 
  

125. Simplify 
3

2

1

1

x

x x



 
 

RUf;Ff 
3

2

1

1

x

x x



   
a. x-1  b. x + 1   c. 1   d.  2 1x x   

 

126. 
4

2

2 162

( 9)(2 6)

x

x x



 
 

a. x-9  b. x + 1   c. x+3   d.  x-3 
 

127. 
2 2

2 2

4 5 3 10
?

25 7 10

x x x x

x x x

   
 

  
 

a. 1  b. 
1

5

x

x




   c. 

1

5

x

x




  d. 

1

5

x

x




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128. The square root of x2+y2+z2- 2xy + 2yz – 2zx ….. 

a. x+y-z  b. x-y+z  c. x+y+z  d. x-y-z 
x2+y2+z2- 2xy + 2yz – 2zx d; th;f;f%yk; 

a. x+y-z  b. x-y+z  c. x+y+z  d. x-y-z 
 

129. 2

2

1
x

x
   = 23 vdpy;> 3

3

1
x

x
  ,d; kjpg;G fhz;f. 

 a.  110  b.  529  c.  125  d.  135 
 
130. The value of 25 – 5 [2 + 3 {2 – 2 (5 – 3) + 5} – 10] ÷ 4 is  

a. 4  b. 24.25  c. 23.75  d. 30 
25 – 5 [2 + 3 {2 – 2 (5 – 3) + 5} – 10] ÷ 4 d; kjpg;G  
a. 4  b. 24.25  c. 23.75  d. 30 

 

131. If 
2 1 2 1

and ,
2 1 2 1

a b
 

 
 

then 2 2a b  is equivalent to: 

a. 38   b. 39   c. 34   d. 32 

2 1 2 1
, ,

2 1 2 1
a b

 
 

 
vdpy; 2 2a b  - d; kjpg;Gfhz;f 

a. 38   b. 39   c. 34   d. 32 
 

132. If 2( )( ) 5 300x a x b x x     , find the values of 2 2a b . 

 a. 25   b. 1500   c. 575   d. 625 

 
2( )( ) 5 300x a x b x x      vdpy; 

2 2a b  ,d; kjpg;igf; fhz;f. 

 a. 25   b. 1500   c. 575   d. 625 
 
133. The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables 

together is 4000. The total price of 12 chairs and 3 tables is : 
 a. 3750  b. 3840  c. 3500  d. 3900 

10 ehw;fhypapd; tpiyAk;> 4 Nki[fspd; tpiyAk; rkk;.  15 ehw;fhypfs; kw;Wk; 2 
Nki[fspd; nkhj;j tpiy &.4000 vdpy; 12 ehw;fhypfs; kw;Wk; 3 Nki[fspd;  nkhj;j 
tpiy ahJ? 

 a. 3750  b. 3840  c. 3500  d. 3900 
 

134. Simplify 214 112 74 49          

a. 15     b. 18   c. 25   d. 17 

RUf;Ff 214 112 74 49    

a. 15     b. 18   c. 25   d. 17 
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135. The value of 
3 3 3( ) ( ) ( )

9( ) ( ) ( )

x y y z z x

x y y z z x

    

  
 

a. 
1

12
  b. 

1

9
   c. 

1

3
   d. 1 

3 3 3( ) ( ) ( )

9( ) ( ) ( )

x y y z z x

x y y z z x

    

  
,jd; kjpg;ghdJ 

a. 
1

12
  b. 

1

9
   c. 

1

3
   d. 1 

 
136. What is the sum of the first 60 terms of the series 12 - 22  + 32  - 42     

a.  -1830      b.   1830      c.  7260      d.  -7260 
 
12 - 22  + 32  - 42+ ….. vd;w njhlhpd; Kjy; 60 cWg;Gfspd; $l;lw;gyd; vd;d? 
a.  -1830      b.   1830      c.  7260      d.  -7260 

 
137. If p, q, r, s, t are in A.P, then the value of p-4q +6r – 4s +t is 

a.  1     b.  2     c.  3     d.  0 
p, q, r, s, t vd;gd $l;Lj; njhlh; thpirapy; (A.P) ,Ug;gpd;> p-4q +6r – 4s +t= ? 
a.  1     b.  2     c.  3     d.  0 

 
138. A gardener plans to construct a trapezoidal shaped structure in his garden.  The longer 

side of side of trapezoid needs to start with a row of 100 bricks.  Each row must be 
decreased by 1 bricks on each end and the construction should stop at 25th row.  How 
many bricks does he need to buy? 

a.  1500     b.  1700      c.  1900     d.  2000 

xU Njhl;lf;fhuh; rhptf tbtpy; Rth; xd;wpid mikf;f jpl;lkpLfpwhh;. rhptfj;jpd; 
ePz;l Kjy; thpirf;F 100 nrq;fw;fs; Njitg;gLfpwJ. gpd;G xt;nthU thpirapd; 
,UGwKk; 1 nrq;fy; Fiwthf itf;f Ntz;Lk;. mt;tbtikg;gpy; 25 thpirfspUg;gpd; 
mth; thq;f Ntz;ba nrq;fw;fspd; vz;zpf;if vj;jid? 

a.  1500     b.  1700      c.  1900     d.  2000 

 
139. What is the sum of all 3 digit natural numbers, which are divisible by 8? 

a. 61376          b. 63176  c. 67136        d. 61636  
8My; tFgLk; midj;J %d;wpyf;f ,ay; vz;fspd; $Ljy; vJ? 
a. 61376          b. 63176  c. 67136        d. 61636  

 
140. How many terms are there in the G.P.3, 6, 12, 24, ….394. 

a. 8   b. 9   c. 10   d. 11 
3,6,12,24,….394 vd;w ngUf;Fj; njhlhpy; vj;jid cWg;Gfs; cs;sd? 
a. 8   b. 9   c. 10   d. 11 

 
141. Find the sum of 7 + 14 + 21 + ….. + 490 

a. 16395  b. 17395  c. 18395  d. 19395 
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7 + 14 + 21 + ….. + 490 vd;w njhlhpd; $Ljy; 
a. 16395  b. 17395  c. 18395  d. 19395 

 

142. The following AP is 
5 2 10

1, , , .......
6 3 3

   then the total number of term is  

a. 25   b. 27   c. 23   d. 21 
5 2 10

1, , , .......
6 3 3

  
 
 vDk; $l;Lj;njhlh; thpirapy; cs;s nkhj;j cWg;Gfspd; 

vz;zpf;if  
a. 25   b. 27   c. 23   d. 21 

 
143. Find the sum to n terms of the series 6 + 66 + 666 + …. 

6 + 66 + 666 + …. vDk; njhlhpy; Kjy; n cWg;Gfspd; $Ljy; fhz;f. 

a. 
10(10 1)

6
9

n

n
 

 
 

   b. 
6666 10(6 1)

7 6

n

n
 

 
 

    

c. 
2 10(6 1)

3 6

n

n
 

 
 

   d. 
2 10(10 1)

3 9

n

n
 

 
 

 

 
144. A gardener wanted to reward a girl for her good deeds by giving some apples. He gave 

2 apples on the first day, 4 on the second day, 8 on the third day, 16 apples on the 
fourth day and so on for ten days. How many apples did she get from the gardener at 
the end of the tenth day 
a. 1024                 b. 2060  c. 1760        d. 2046 
ew;gzp nra;j xU rpWkpf;F ghprspf;f tpUk;gp Njhl;lf;fhuh; rpy Mg;gps;fis ghprhf 
mspf;f Kd;te;jhh;. Kjy; ehs; 2 Mg;gps;fs; ,uz;lhk; ehs; 4 Mg;gps;fs;> Kd;whk; 
ehs; 8 Mg;gps;fs;> ehd;fhk; ehs; 16 Mg;gps;fs; … vDkhW 10 ehl;fs; mspj;jhh;. 10 
ehs; Kbtpy; mr;rpWkp ngw;Wf;nfhz;l nkhj;j Mg;gps;fs; vt;tsT? 
a. 1024                 b. 2060  c. 1760        d. 2046 

 
145. Find the sum of the first 30 terms of an A.P. whose nth term is 3 + 2n.  

a. 1020  b. 63   c.1890   d.2100 
n MdJ cWg;G 3 + 2n vd;wthW mike;j xU $l;Lj; njhlh;thpirapd; Kjy; 30 
cWg;Gfspd; $l;lw;gyidf; fhz;f.  
a. 1020  b. 63   c.1890   d.2100 

 

146. Find the total area of 14 squares whose sides are 11 cm, 12 cm, …., 24 cm. 
a. 4515 sq. cm.  b. 4900 c. 5000   d. 385 
11 nr.kP> 12 nr.kP> ….> 24 nr.kP Mfpadtw;iw KiwNa gf;f msTfshff; nfhz;l 14 
rJuq;fspd; nkhj;jg; gug;G fhz;f. 
a. 4515 sq. cm.  b. 4900 c. 5000   d. 385 

 
147. If 13 + 23 + 33 + … + k3 = 8281, then find 1 + 2 + 3 + … + k. 

a. 21   b. 231  c. 100   d. 91 
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13 + 23 + 33 + … + k3 = 8281 vdpy;>  1 + 2 + 3 + … + k-apd; kjpg;igf;  fhz;f. 
a. 21   b. 231  c. 100   d. 91 

 

148. If the sequence t1, t2, t3,….. are in A.P. then the sequence t6, t12, t18,….. is 
a. a Geometric Progression  
b. an Arithmetic Progression 
c. neither an Arithmetic Progression nor a Geometric Progression 
d. a constant sequence 
t1, t2, t3 vd;gJ xU $l;Lj;njhlh;thpir vdpy; t6, t12, t18,… vd;gJ 
a. xU ngUf;Fj;njhlh;thpir    
b. xU $l;Lj;njhlh;thpir 
c. xU $l;Lj;njhlh; thpirAky;y> ngUf;Fj; njhlh; thpirAky;y 
d. xU khwpypj; njhlh; thpir 

 
149. If 6 times of 6th term of an A.P. is equal to 7 times the 7th term, then the 13th term of the 

A.P. is 
a. 0   b. 6   c. 7   d. 13 
xU $l;Lj; njhlu;tupirapd; 6tJ cWg;gpd; 6 klq;Fk; 7tJ cWg;gpd; 7 klq;Fk; rkk; 
vdpy;> mf;$l;Lj; njhlu;tupirapd; 13-tJ cWg;G 
a. 0   b. 6   c. 7   d. 13 

150. If the function f:    is defined by f(x) = 
2

2 7, 2

2, 2 3

3 2, 3

x x

x x

x x

 


   
  

 then find the values of           

f(4) + 2f(1) 
a. -8   b. 10   c. 8   d. 12 

rhu;G f:    MdJ f(x) = 
2

2 7, 2

2, 2 3

3 2, 3

x x

x x

x x

 


   
  

  vd tiuaWf;fg;gl;lhy;> f(4) + 2f(1)-d; 

kjpg;G fhz;f. 
a. -8   b. 10   c. 8   d. 12 
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TNPSC GROUP I test batch – 2020 
TEST XVI – MENTAL ABILITY & CURRENT AFFAIRS (SEP & OCT) 

 

1 2 3 4 5 6 7 8 9 10 
B D B B D D D D D D 

11 12 13 14 15 16 17 18 19 20 
D B C D A D B B C A 

21 22 23 24 25 26 27 28 29 30 
C B A C B A D B C D 

31 32 33 34 35 36 37 38 39 40 
D D D D A C A C A C 

41 42 43 44 45 46 47 48 49 50 
C D C D D B B D C A 

51 52 53 54 55 56 57 58 59 60 
D D B B B B D B B D 

61 62 63 64 65 66 67 68 69 70 
B D A D B B D A D A 

71 72 73 74 75 76 77 78 79 80 
C B B A D B D B A A 

81 82 83 84 85 86 87 88 89 90 
B B C A A C A B D B 

91 92 93 94 95 96 97 98 99 100 
D B D C C A B D B A 

101 102 103 104 105 106 107 108 109 110 
C D C B A D A D B B 

111 112 113 114 115 116 117 118 119 120 
A C D A A A D D D D 

121 122 123 124 125 126 127 128 129 130 
C C A A A C C D A C 

131 132 133 134 135 136 137 138 139 140 
C D D A C A D C A A 

141 142 143 144 145 146 147 148 149 150 
B B D D A A D B A C 
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